
How to Install a Steeda Cold Air Intake for a 2011-2012 Mustang GT 

 

 

The below installation instructions work for the following products: 

 Steeda Mustang Cold Air Intake Kit - Manual Transmission (2011-2012 GT) 

 Steeda CAI and SF3 Tuner - Manual Transmission (2011-2012 GT) 
 

Here at American Muscle, we're all about DIY (do it yourself). Of course, there's nothing wrong with seeking out a little bit 
of tech help prior to taking on an installation on your own. Our Mustang installation guides will provide valuable instructions 
and hopefully answer any how-to questions that you may have along the way. 
 

Congratulations on the purchase of your Steeda Cold Air Intake, by following the steps outlined in this guide you should 
have your new intake assembled and installed in about 1 to 2 hours. This guide is broken down into three separate 
procedures, first the Assembly Procedure followed by the Factory Intake Removal Procedure, and finally the Installation 
Procedure. 

 

FACTORY INTAKE 

http://www.americanmuscle.com/steeda-intake-manual-2011gt.html
http://www.americanmuscle.com/steeda-intake-tuner-2011gt-manual.html


 

STEEDA INTAKE 

Assembly Procedure: 

 
Tools needed: 

 1/8” Allen Wrench 

 5/32” Allen Wrench 

 3/32” Allen Wrench 

 3/8” Box or Open End Wrench 

 Optional” 3M Weather Stripping Adhesive 
 

 

 

 

 

 

 

 

 

 
 
 

 

 



Installation: 

1. Remove protective coating from Heat Shield 
2. Locate the Following Parts: Large Bracket,(2) Aluminum Dowels, (2) ¼” Flat Washers, (2) ¼”x 5/8” Hex Head Bolts, and 

(2) #10 x 5/16” Button Head Allen Screws  

 

3. Fasten the Dowels to Large Brackets using the Hex Head Bolts and washers.  
 

 



4. Using the Button Head Allen Screws fasten the Large Bracket to the Heat Shield  

 
 

5. Locate the Following Parts: Small Bracket and (2) #10 x 5/16” Button Head Allen Screws  

 
 



6. Using the Button Head Allen Screws, fasten the Small Bracket to Heat Shield. 
 

 
 

7. Locate the Following Parts: Air Duct and the (4) #10 ½” Button Head Allen Screws with associated Washers and 
Locknuts  

 



 

8. Fasten Air Duct to the Heat Shield as seen in the picture below  

 
 

9. Locate the Following Parts: MAF Sensor Pipe, (4) ¼” x 3/ 8” Button Head Allen Screws, and (4) ¼” Washers 
 

 
 



10. Fasten the MAF Sensor Pipe to the Heat Shield using the Button Head Screws and Washers   
 

 
 

11. Locate the Following Parts: Large Trim, Small Trim, and (Optional) 3M Weather Stripping Adhesive 

 
 



12. Install Large Trim across the top of the Heat Shield and Small Trim along lower side of Heat Shield, using Weather 
Stripping Adhesive as needed to keep trim in place 
 
 

 
 

13. Locate and Install Hose Clamp and Conical Filter 

  

 



14. Locate the Steeda Vinyl Graphic and install it in the location that looks best to you, as you can in the image above the 
Graphic is on the flat spot below the filter 

Factory Intake Removal Procedure: 

Tools needed: 

 Standard “Flat Head” Screw Drive 

 1/4” Ratchet 

 6 inch 1/4” extension 

 10mm Socket 1/4” Drive 
1. Remove Engine Cover By pulling straight up, it is only held into place by rubber grommets 
2. Disconnect the connector for the MAF Sensor and also disconnect the hoses for the PCV and Noise Tube from the Intake 

  

  

 

3. Loosen the clamp securing the Intake Tube to the Throttle Body and unscrew the bolt securing the Intake to the inner 
fender, then gently pull up and out to remove Entire Intake from vehicle 



 

 

  

4. Remove Rubber Grommets from the bottom of the Intake and reinstall into inner fender of vehicle 



 

 

  

5. Transfer Rubber Grommet from Factory Intake to Steeda Intake 



 

 

  

6. Transfer MAF Sensor from Factory Intake to Steeda Intake 



 

 

  

Installation Procedure: 

Tools needed: 

 Standard “Flat Head” Screw Drive 

 1/4” Ratchet 



 6 inch 1/4” extension 

 10mm Socket 1/4” Drive 
1.  Install the Heat Shield Assembly into the vehicle inserting the two Aluminum Dowels into the grommets on the inner 

fender and properly aligning the Air Duct Tube into the factory duct work. Then reusing the factory bolt secure the 
assembly to the fender 

  

 

 



  

2. Locate the Following Parts: Intake Tube, Smaller Silicone Sleeve, Larger Silicone Sleeve, (2) 51-101 mm Hose Clamps,(2) 
64-114 mm Hose Clamps 

 

  

3. Install Larger Silicone Sleeve over the MAF Sensor Tube along with both of the 64-114 mm Hose Clamps, then install the 
Smaller Silicone Sleeve over the throttle body with both of the 51-101 mm Hose Clamps. Once properly aligned secure all 
of the hose clamps 



 

4. Locate the following parts: 5/8” Rubber Hose, (2) 1” Hose Clamps, and PCV Adapter 

 

 

 

 



5.  Install Hose and PCV Adapter then secure with Hose Clamps 

 

   

6. Connect PCV Tube to Intake by sliding tube over PCV Adapter till it locks into place   

 

    



7. Connect PCV Tube to Intake by sliding tube over PCV Adapter till it locks into place   

 

  

8. Connect the MAF Sensor Harness to the MAF Sensor 

 

  

http://www.americanmuscle.com/1112-engine-parts.html


  

9. Reinstall the Engine Cover   

 

10.  Program the Engine Computer with a tune designed for the Steeda CAI, a turner such as SCT SF3 Tuner should be used 

11. Do Not Start Engine Without Tuning Engine Computer for the New Intake   

 

Related Articles: 
 Airaid Poweraid Throttle Body Spacer (2011 V6) - Installation Instructions 
 Differential Gears - Installation Instructions 
 Moser 31 Spline Mustang Axles for 8.8in Rear w/ Studs (05-10 GT) - Installation Instructions 

 

http://www.americanmuscle.com/airaid-tbspacer-2011v6-install.html
http://www.americanmuscle.com/differential-gear-install.html
http://www.americanmuscle.com/moser-31-spline-mustang-axle-0510gt-install.html

